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P - II (1+1+1) G / 20 (N) SUP

2020

BOTANY (General)
Paper Code : IV-A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : IV-A
Full Marks : 16 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which of the following are non-renewable resources ?

(A) Water

(B) Mineral

(C) Soil

(D) Forests

1Ð þþ!˜Á¬!œ!…“þ ¢Á™”=!œîû ›öì•Ä ö„þy˜!Ýþ þ™%̃ ƒîÄî£yîûöìëy†Ä ˜ëû Ú

(A) ‹œ

(B) …!˜‹ oîÄ

(C) ›y!Ýþ

(D) î˜¢Á™”

2. Which of the following is a man-made ecosystem ?

(A) Salt water ecosystem

(B) Grassland ecosystem

(C) Desert ecosystem

(D) Cropland ecosystem

2Ð þþ!˜Á¬!œ!…“þ îylßþ“þöìsþfîû ›öì•Ä ö„þy˜!Ýþ ›y˜%¡ì !˜!›Å“þ îylßþ“þsþf Ú

(A) ¢y›%!o„þ îylßþ“þsþf

(B) “,þ’¦)þ!› îylßþ“þsþf

(C) ›îû&¦)þ!› îylßþ“þsþf

(D) „,þ!¡ì‹ îylßþ“þsþf
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3. Which of the following free-floating hydrophytes possesses only one root ?

(A) Nymphae

(B) Spirodela

(C) Lemna

(D) Wolffian

3Ð þþ!˜Á¬!œ!…“þ vþz!q”=!œîû ›öì•Ä ö„þy˜!Ýþ þ¦þy¢›y˜ ‹œ‹ vþz!q” ëyîû ~„þ!Ýþ›ye ›)œ î“Åþ›y˜ Ú

(A) Nymphae

(B) Spirodela

(C) Lemna

(D) Wolffian

4. The pyramid of biomass may be inverted in case of —

(A) Parasitic ecosystem

(B) Fresh water ecosystem

(C) Desert ecosystem

(D) Marine ecosystem

4Ð þþ!þ™îûy!›öìvþîû îyöìëûy›y¢ ö„þy˜ öÇþöìe vþzöìÎÝþy £öìî Ú

(A) þ™îû‹#!î îylßþ“þöìsþf

(B) !îÖkþéôé‹œ îylßþ“þöìsþf

(C) ›îû*¦)þ!› îylßþ“þöìsþf

(D) ¢y›%!o„þ îylßþ“þöìsþf

5. The primary meristem includes —

(A) Intercalary meristem

(B) Lateral meristem

(C) Apical meristem

(D) All of the above
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5Ð þ²Ìy£z›yîû# ¦þy‹„þ „þœy íyöì„þé éôôôéé

(A) £zrÝþyîû„þÄyöìœy!îû ö›!îûöìÞÝþ›

(B) œÄyöìÝþîûyœ ö›!îûöìÞÝþ›

(C) ~!þ™„þyœ ö›!îûöìÞÝþ›

(D) vþzþ™!îûvþz_« ¢î ¢!àþ„þ

6. Which of the following cells are grouped into fibres and sclerides ?

(A) Chlorenchyma

(B) Sclerenchyma

(C) Parenchyma

(D) Collenchyma

6Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ šþy£zîyîû ç ößþÏñîûy£zvþ ~îû xhsþ†Å“þ éôôôéé

(A) ö„Ïþyöìîû˜„þy£z›y

(B) ößþÏñöìîû˜„þy£z›y

(C) þ™Äyöìîû˜„þy£z›y

(D) ö„þyöìœ˜„þy£z›y

7. The xylem, if its elements derived from the procambium of the apical meristem
known as —

(A) Protoxylem

(B) Primary xylem

(C) Metaxylem

(D) Secondary xylem
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7Ð þ~!þ™„þyœ ö›!îûöìÞÝþöì›îû ö²Ìy„þÄy!Áºëûy› öíöì„þ ‹y£zöìœ› ÷“þîû# £öìœ ö¢!Ýþ éôôôéé

(A) ö²ÌyÝþy‹y£zöìœ›

(B) ²Ìy£z›y!îû ‹y£zöìœ›

(C) ö›Ýþy‹y£zöìœ›

(D) ö¢öì„þuþy!îû ‹y£zöìœ›

8. The breathing roots in halophytes —

(A) Pneumatophores

(B) Rhizomes

(C) Rhizoids

(D) Protonemata

8Ð þ£öìœyšþy£z!Ýþ„þ vþz!qöì”îû Ù»y¢›)œ £œ éôôôéé

   (A) !˜vþz›yöìÝþyöìšþyîû

(B) îûy£zöì‹y›

(C) îûy£z‹öìëûvþ

(D) ö²ÌyÝþ!˜›yÝþy

9. The term taxonomy was coined by —

(A) Hutchinson

(B) Carrolus Linnaeus

(C) Kesper Bauhin

(D) A. P. De Candole

9Ð þòÝþÄy:˜!›ó Ÿ·!Ýþîû ²Ìî_«y £œé éôôôéé

(A) £y!‰þ˜¢˜

(B) „þÄyöìîûyœy¢ !œ!˜ëûy¢

(C) „þÄy¢þ™yîû îyvþz!£˜

(D) ~. !þ™. !vþ „þÄyöìuþyöìœ
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10. The most popular and outstanding Natural system of classification is that of —

(A) Bentham and Hooker

(B) Hutchinson

(C) De Candole

(D) Bessey

10Ð þ‹˜!²Ìëû vþzöìÍÔ…öìëy†Ä ˜Äyöì‰þîûyœ ö×’#!î˜Äy¢ þ™kþ!“þîû ²Ìî_«y £œ éôôôéé

(A) öîsþiy› ç ý„þyîû

(B) £y!‰þ˜¢˜

(C) !vþ „þÄyöìuþyöìœ

(D) öî!¢

11. The example of a hydrophytic plant —

(A) Nymphaea stellata

(B) Tagetes erecta

(C) Ficus benghalensis

(D) Cocos nucifera

11Ð !˜Á¬!œ!…“þ vþz!q”=!œîû ›öì•Ä ö„þy˜!Ýþ ‹œ‹ vþz!qöì”îû vþz”y£îû’ Ú

(A) Nymphaea stellata

(B) Tagetes erecta

(C) Ficus benghalensis

(D) Cocos nucifera

12. Which one of the following is the largest flower in the world ?

(A) Wolffia globosa

(B) Artocarpus heterophyllus

(C) Rafflesia arnoldii

(D) Raphia regalis
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12Ð þ!˜Á¬!œ!…“þ vþz!qöì”îû ›öì•Ä ö„þy˜!Ýþ !îöìÙ»îû ¢îÅî,£ê š%þœ ö”…y ëyëû Úéé

(A) Wolffia globosa

(B) Artocarpus heterophyllus

(C) Rafflesia arnoldii

(D) Raphia regalis

13. Arrangement of flowers on the floral axis referred as —

(A) Ptyxis

(B) Phyllotaxy

(C) Inflorescence

(D) Venation

13Ð þþ™%Ü™”öì[þîû vþzþ™îû þ™%öìÜ™îû ¢Iyîû#!“þöì„þ îœy £ëû éôôôéé

(A) Ptyxis

(B) Phyllotaxy

(C) Inflorescence

(D) Venation

14. Hypanthodium found in —

(A) Euphorbia hirta

(B) Ficus benghalensis

(C) Leonurus sibiricus

(D) Dianthus chinensis

14Ð þþvþz”%Áºîû îy £y£zþ™Äyöìsþiy!vþëûy› ö”…y ëyëû éôôôéé

(A) Euphorbia hirta

(B) Ficus benghalensis

(C) Leonurus sibiricus

(D) Dianthus chinensis
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15. When both accessory whorls i.e. sepal and petal fuse, they form —

(A) Calyx

(B) Corolla

(C) Perianth

(D) Pistil

15Ð þþ™%öìÜ™îû ¢y£yëÄ„þy!îû hßþî„þ (accessory whorls) öþ™Ýþyœ ç ö¢þ™yœ !›!œ“þ £öìëû ÷“þ!îû „þöìîû éôôôéé

(A) „þÄy!œ:

(B) ö„þyöìîûyœy

(C) öþ™!îûëûysþi

(D) !þ™!ÜTœ

16. ‘Pome’ is commonly known as —

(A) Berry

(B) Succulent fruit

(C) Drupe

(D) False fruit

16Ð þþòöþ™y›ó ¢y•yîû’“þ ~„þ ²Ì„þyöìîûîû éôôôéé

(A) öî!îû

(B) îû¢yœ šþœ

(C) vÈþ$þ™

(D) x²Ì„,þ“þ šþœ

—————
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P - II (1+1+1) G / 20 (N) SUP

2020

BOTANY (General)
Paper Code : IV-B

[New Syllabus]
(Supplementary)

Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A

1. Answer any one of the following : 9×1=9

(i) Discuss the identifying characters, systematic position and economic
importance of the family Orchidaceae with its floral formula.

(ii) Explain the biogeochemical cycle of biological Nitrogen fixation with its
significance in environment. 6+3

2. Answer any two of the following questions : 4×2=8

(i) Classify the meristematic tissue on the basis of position in the plant body.

(ii) Give the full form of ICBN. What is binomial nomenclature? Mention its
importance in taxonomy. 1+1+2

(iii) Define the term aestivation. Discuss the different types of aestivation in plant.

(iv) Explain the chain of energy flow in forest ecology.
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Group - B

3. Answer any one of the following questions : 5×1=5

(i) Define Ovule. Discuss the various types of ovules found in plant. 1+4

(ii) Mention the economic importance of the family Poaceae.

4. Answer any two of the following questions : 6×2=12

(i) Explain with suitable diagram of Root-Stem Transition in plant.

(ii) What is herbarium ? Name one herbarium of India. Briefly discuss the
herbarium techniques for plant material preservation. 1+1+4

(iii) What is placentation ? Discuss the various types of placentation. 1+5

(iv) Write a short note on Ecological pyramid.

îDy %̃îy”

!î¦þy† éôé „þ

1Ð !˜Á¬!œ!…“þ ²ÌöìÙÀîû ›öì•Ä öëöì„þyöì̃ y ~„þ!Ýþîû vþz_îû ”yç ­ 9×1=9

S„þV x!„Åþöìvþ!¢ šþÄy!›!œîû þ™%Ü™¢öìBþ“þ ¢£ ¢˜y_«„þîû’ ÷î!ŸÜTÄ– ö×’#!î˜Äy¢ ~î‚ xíÅ÷ì̃ !“þ„þ =îû&c
xyöìœy‰þ˜y „þöìîûyÐ

S…éV ÷‹!î„þ þ™kþ!“þîû ›y•Äöì› þ™!îûöìîöìŸ ˜y£zöìÝþÆyöì‹˜ !šþöì:Ÿöì̃ îû ²Ì!e«ëûy ~î‚ ~îû =îû&c xyöìœy‰þ˜y
„þöìîûyÐ 6+3

2Ð !˜Á¬!œ!…“þ ²ÌöìÙÀîû ›öì•Ä öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV vþz!q” ö”öì£ xîßþiy˜ x %̃ëyëû# ¦þy‹„þ „þœyîû ö×’#!î˜Äy¢ „þöìîûyÐ

S…éV ICBN ~îû þ™%öìîûy ˜y› !„þ Ú !mþ™” ˜y›„þîû’ „þyöì„þ îöìœ Ú ÝþÄy:öì̃ y!›öì“þ !mþ™” ˜y›„þîûöì’îû
=îû&c xyöìœy‰þ˜y „þöìîûyÐ 1+1+2

S†V ›%„%þœ þ™e!î˜Äy¢ „þyöì„þ îöìœ Ú !î!¦þ§¬ ²Ì„þyîû ›%„%þœ þ™e!î˜Äy¢ ¢Á™öì„Åþ xyöìœy‰þ˜y „þöìîûyÐ

S‡V îöì̃ îû îylßþ“þöìsþf Ÿ!_« ²Ìîy£ Ÿ,Cœ îÄy…Äy „þöìîûyÐ
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!î¦þy† éôé …

3Ð !˜Á¬!œ!…“þ ²ÌöìÙÀîû ›öì•Ä öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5

S„þV !vþÁº„þ „þyöì„þ îöìœ Ú vþz!q” ö”öì£ !î!¦þ§¬ ²Ì„þyîû !vþÁº„þ ¢Á™öì„Åþ xyöìœy‰þ˜y „þöìîûyÐ 1+4

S…éV öþ™yöìëû!¢ šþÄy!›!œîû xíÅ÷ì̃ !“þ„þ =îû&c îÄy…Äy „þöìîûyÐ

4Ð !˜Á¬!œ!…“þ ²ÌöìÙÀîû ›öì•Ä öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 6×2=12

S„þV ¢%!˜!”ÅÜT öîû…y!‰þe ¢£ vþz!qöì”îû Root-Stem Transition ~îû î’Å̃ y ”yçÐ

S…éV £yöìîÅ!îûëûy› !„þ Ú ¦þyîûöì“þîû ~„þ!Ýþ ²Ì!¢kþ £yöìîÅ!îûëûyöì›îû ˜y› öœ…Ð vþz!q” ˜›%˜yîû ¢‚îûÇþ’
„þîûyîû ‹˜Ä £yöìîÅ!îûëûy› ÷“þîû#îû þ™kþ!“þ ¢‚öìÇþöìþ™ î’Å̃ y „þöìîûyÐ 1+1+4

S†V ²Õyöì¢öìrÝþŸ˜ „þyöì„þ îöìœ Ú !î!¦þ§¬ ²Ì„þyîû ²Õyöì¢öìrÝþŸ˜ ~îû îÄy…Äy ”yçÐ 1+5

S‡V îylßþ“þöìsþfîû !þ™îûy!›vþôé~îû ¢‚!Çþ® !îîîû’ ”yçÐ

–––––––––––


